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Explanations and answers to select questions

01 Option (B) is the correct answer. Its homophone is ‘Seas’. Option (A) is not a homophone.

03 Option (B) is the correct answer. There is no word as ‘Becon’.

04 Option (C) is the correct answer. Option (B) ‘hear’, the past tense of which is ‘heard’, is not a regular verb as
the past tense is not formed by adding ‘ed’ at its end. ‘Live’ is added with ‘ed’ to form its past tense. However,
as per the rules of grammar, the earlier ‘e’ needs to be dropped.

11 Option (B) is the correct answer. Catch : All the fish caught on a fishing trip. It is the only one that is a collective
noun. A ‘catch’ of fish.

13 Option (C) is the correct answer. The three syllables are : Buf-fa-lo.

16 Option (D) is the correct answer. The noun that follows is a plural (paths).

17 Option (B) is the correct answer, a verb form of ‘cause’. The word ‘moon’ is implied there after the word “earth’s
as it offers a comparison with other moons, those of other planets’.

20 Option (D) is the correct answer. The first blank needs to be filled with ‘An” because the letter ‘s’ is pronounced
with a vowel sound as in ‘Ace’. The following two blanks need to be filled with ‘the’, as the mention is about a
specific word at both the places.

21 Option (C) is the correct answer. When you travel by a large vehicle, like a ship, train, etc., where you can move
around, you travel ‘on’ it. And when you travel by a vehicle like a car, a dinghy, etc., where you can’t move around,
you travel ‘in’ it.

24 Option (B) is the odd one. Only that is an uncountable noun, others are not.

26 Option (D) is the correct answer. Option (A) cannot be the answer, as ‘northern hemisphere’ means the area of
earth above the equator, which has countries like India, Sri Lanka, Thailand, etc. to whom that description does
not apply. Option (B) cannot be the answer, as it does rain there. Though rain there is not a season as such,
it rains through other seasons except the summer and in addition, water falls on earth in the form of snow, so
life exists/thrives. Option (C) cannot be the answer, as the story does not talk about other regions.
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(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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